H—4 )L HhB0a5 Vol 125 ik
[~ T v [ o2& [ e& | #a [ @ |

300 K-01-1 |262.50.368 rh IL—-LN—Y AS e 150
300/ K-01-2 |262.50.390 9 Jb—hn'—Y ASR & 180
300| K-01-3 [262.50.359 Iy WAL=y AS & 150
301| K-02-1 [262.49.365 rh IL—-LN—Y EH @ 110
301 K-02-2 |262.49.367 9 JL—hn'—Y EHS & 160
301] K-02-3 [262.51.380 Ty TUUTWIL—hLN—=Y AD & 220
301| K-02-4 [262.49.356 Ty WNERMN=Y )97 " 110
302| K-03 |46080 WUF)y7’ & 250
303| K-04-1 [262.87.041 %7499 685 E 670
303| K-04-1 [262.87.042 Y¥Y7499JR 1545 E 670
303| K-04-2 [262.87.190 IXY7IR AN—%vv7" 779V & 64
303] K-04-2 [262.87.390 RVIIAR WN—%x97" Th & 64
303| K-04-2 [262.87.790 YXVT499R AN —%xy7" Kb & 64
304| K-04-2 [262.87.190 IXY7IR IN=%vv7" 779V & 64
304| K-04-2 [262.87.390 YRVIMIAR IN—%x97" Th & 64
304| K-04-2 [262.87.790 YXVT499R A —%xy7" Kb & 64
303| K-04-3 [262.96.211 1#3A3294%— 65mm ® 170
303| K-04-3 |262.96.220 1#83iA31444—150mm I 210
303 K-04-4 [262.86.190 YXVTIR AN =%vy7 779V & 60
303] K-04-4 [262.86.390 YRVIMIAR IN—%x97" Th & 60
303| K-04-4 [262.86.790 Y¥VIIR AN =%vy7" Kb & 60
304| K-05-1 [262.87.603 IRV R =90y & 270
304| K-05-2 |262.87.931 EHER VS35 16x 35 & 110
304| K-05-2 |262.87.932 EHER VS35 16 %55 & 120
304| K-05-3 [262.87.901 FEH#ERIVFS35 M6 X 35 " 70
304| K-05-3 [262.87.902 FE#ERIVFS35 M6 X 55 " 86
304| K-05-3 [262.87.911 JEH#ERIVFS35 M8 X 35 " 64
304| K-05-3 [262.87.912 JE#ERIVFS35 M8 X 55 " 86
314| K-06-1 [SB-6x20 ybry7 H L 6% 20 " 20
314| K-06-1 |SB—6x26 Ty KL 6% 26 I 20
314| K-06-1 [SB-6x30 ybry7 H L 6X30 " 24
314| K-06-1 [SB-6x35 ybry7 H U 6% 35 " 24
314| K-06-1 [SB-6x40 ybry7 H L 6% 40 " 26
314| K-06-1 [SB-6x45 ybry7 H L 6% 45 " 26
314| K-06-1 [SB-6x50 ybry7 H UL 6X 50 " 28
314| K-06-1 |SB—6x55 Y7 K ILE 6% 55 I 28
314| K-06-1 [SB-6x60 ybry7 H L 6X 60 " 30
314| K-06-1 [SB-6x70 ybry7 H UL 6X 70 " 38

K-06-1|SB-6 X 14 Ty KU 6x14 o 14

K-06-1|SB=6 X 15 by 7 KL 6% 15 Ju 14

K-06-1|SB=6 X 25 by 7 K ILE 6% 25 Ju 14
314| K-06-2 |SN-6x14 tybry7Fyb 6x14 I 62
314| K-06-2 [SN-6x19 ybEry7Fyb 6x19 I 62
313| K-06-3 [SC-1 NY'L— tybey7” 1 NYL- Y 600
313| K-06-3 [SC-10 7%% by 10 9% Nyh 600
313| K-06-3 [SC-11 % by 11 K Nyh 600
313| K-06-3 [SC-12 N¥-% tyb¥ry7” 12 N¥-) NyY 600
313| K-06-3 [SC-13 #:EBf tybdry7 13 $3EBE Nyh 600
313| K-06-3 [SC-14 H7M{M'=V"2 tybtry7” 14 KO(M=V'2 Nyh 600
313| K-06-3 [SC-15 ¥'L—Ya tybey7” 15 Y'L-Va Nyl 600
313| K-06-3 [SC-16 W tyb¥ry7” 16 W Nyh 600
313] K-06-3 [SC-17 ~A-Y1 Bybry7” 17 A'=Ya Nk 600

Circle



H—45)LAHE0a45 Vol. 1258 i &
[~y [+ [ && [ &% | =z [ fi#E |

313| K-06-3 [SC-18 IN Eyh4ry7” 18 IN Ny 600
313| K=06-3 |SC-19 A7{b7L— b7 19 AR L- Noh 600
313] K-06-3 [SC-2 5365 EyMry7” 2 5365 Y, 600
313| K-06-3 [SC-20 #74+7'L— tybry7” 20 K74ML— Ny 600
313| K-06-3 [SC-21 T7L— ybry7” 21 TYL- Nyl 600
313] K-06-3 [SC-22 5364 Bybdry7” 22 5364 Y, 600
313| K-06-3 [SC-23 K7'L— Eybry7” 23 KYL- Nyh 600
313| K-06-3 [SC-24 ¥'L- tybkvy7” 24 HL- Ny 600
313 K-06-3 |[SC—25 H tybry7” 25 B nyh 600
313| K-06-3 |SC-26 IEFETAK- tybdry7” 26 IEETAHR- Ny 600
313| K-06-3 [SC-27 74#")- tybtyy7” 27 TARY- Nyl 600
313| Kk-06-3 |SC-28 FA&KY-E447 tybdyy7” 28 TARY-ES47 Nyh 600
313| k-06-3 [SC-29 F1M)-v tybfvy7” 29 F4M)-Y Nyl 600
313 K-06-3 |SC-3 #FJ'L- b7 3 - Ny 600
313 K-06-3 [SC-30 F4+7°I— tybvy7” 30 AT IL— Ny 600
313| K-06-8 [SC-31~45 tyby7 31~45 Nyh Z
313| K-06-3 [SC-4 %—9yL- tybkvy7 4 §F-991- NyY 600
313| K-06-3 [SC-5 5366 tybry7” 5 5366 Nyl 600
313| K-06-3 [SC-6 & b7’ 6 B n'yh 600
313| Kk-06-3 |SC-7 LB3M+7°39Y tybtvy7” 7 LBIATIY Nyh 600
313| K-06-3 |SC-8 I0f tybry7” 8 108 Nyh 600
313| K-06-3 [SC-9 N7'79v tybtey7” 9 N7V Nyh 600
314| K-06-4 [SW-1 ¢4 BRtyMry7 Dyie— & 16
314| K-06-4 [SW-1 /I By M7 Dyie— b {& 16
314| K-06-4 |[SW-1 K BRtyMry7 dvir— K {& 16
314| K-06-4 [SW-1 & BRtyMry7 Jyir— & 16
314| Kk-06-4 |SW-2 4 EBREEE - ¢4 & 12
314| K-06-4 [SW-2 5.1 EHEED - ¢5.1 I 12
315 K-07-1 |JCB-A=+6x23 GB JCB-A+6 %23 GB 1& 58
315 K-07-1 |JCB-A=%6 %23 Ni JCB-A=6 X 23 Ni & 58
315 K-07-1 |JCB-A=+6x30 GB JCB-A#6 %30 GB 1& 58
315 K-07-1 |JCB-A=6 %30 Ni JCB-A=6 % 30 Ni & 58
315 K-07-1 |JCB-A=+6x35 GB JCB-A=6 % 35 GB & 60
315 K-07-1 |JCB-A=6 %35 Ni JCB-A=%6 X 35 Ni & 62
315 K-07-1 |JCB-A=+6 x40 GB JCB-A=6 %40 GB & 60
315 K-07-1 |JCB-A=6 %40 Ni JCB-A=6 X 40 Ni & 60
315 K-07-1 |JCB-A=+6x45 GB JCB-A#6 X 45 GB 1& 62
315 K-07-1 |JCB-A=6 %45 Ni JCB-A=6 X 45 Ni & 62
315 K-07-1 |JCB-A=+6 x50 GB JCB-A#6 X 50 GB 1& 64
315 K-07-1 |JCB-A=6 %50 Ni JCB-A=%6 X 50 Ni & 64
315 K-07-1 |JCB-A=+6x55 GB JCB-A#6 X 55 GB 1& 64
315 K-07-1 |JCB-A=6 %55 Ni JCB-A=%6 X 55 Ni & 64
315 K-07-1 |JCB-A=+6 %60 GB JCB-A#6 X 60 GB 1& 66
315 K-07-1 |JCB-A=6 %60 Ni JCB-A=6 X 60 Ni & 66
315 K-07-1 |JCB-A=+6x70 GB JCB-A=6 %70 GB & 72
315 K-07-1 |JCB-A=6 %70 Ni JCB-A=%6 X 70 Ni & 72
315 Kk-07-1 |JCB-A®S6 % 23 GB JCB-A®)6 x 23 GB I 58
315 Kk-07-1 |JCB-A®S % 23 Ni JCB-A®)6 % 23 Ni & 58
315 K-07-1 |JCB-A®S6 % 30 GB JCB-A®)6 x 30 GB I 58
315 Kk-07-1 |JCB-A®S % 30 Ni JCB-A®)6 % 30 Ni ® 58
315 K-07-1 |JCB-A®S6 x 35 GB JCB-A®)6 x 35 GB I 60
315 Kk-07-1 |JCB-A®S % 35 Ni JCB-A®)6 % 35 Ni ® 60

Cirele




H—29)LAZ05 Vol 125 i &

315| K-07-1 [JCB-A®S6 x 40 GB JCB-A®)6 X 40 GB & 60
315 K-07-1 |JCB-A®6 X 40 Ni JCB-A®)6 x 40 Ni I 60
315| K-07-1 |[JCB-A®S6 x 45 GB JCB-A®)6 x 45 GB & 62
315| K-07-1 |[JCB-A®S6 x 45 Ni JCB-A®)6 X 45 Ni & 62
315| K=07-1 [JCB-A®S x 50 GB JCB-A®)6 x 50 GB I 64
315| K=07-1 |[JCB-A®)6 X 50 Ni JCB-A®)6 x 50 Ni I 64
315| K-07-1 |[JCB-A®)S6 x 55 GB JCB-A®)6 X 55 GB ® 64
315| K=07-1 |[JCB-A®)% X 55 Ni JCB-A®)6 x 55 Ni I 64
315| K-07-1 [JCB-A®S6 x 60 GB JCB-A®)6 X 60 GB & 66
315 K-07-1 |JCB-A®)6 X 60 Ni JCB-A®)6 x 60 Ni I 66
315| K=07-1 [JCB-A®S x 70 GB JCB-A®)6 x 70 GB I 72
315] K-07-1 |JCB-A®6 X 70 Ni JCB-A®)6 x 70 Ni I 72
K=07-1 r 284
K=07-1 r 284
K=07-1 i 230
K=07-1 i 230
K=07-1 i 276
K=07-1 i 276
K=07-1 r 284
K=07-1 r 284
K=07-1 r 230
K=07-1 i 230
K=07-1 r 276
K=07-1 i 276
315| K-07-2 |JCN £6Xx12 GB JCN *6x12 GB & 48
315| K=07-2 [JCN *6X12 Ni JON £6x12 Ni I 48
315| K-07-2 [JCN £6x17 GB JCN *+6%x17 GB & 56
315| K=07-2 |JCN £6X17 Ni JCON £6Xx17 Ni & 56
315| K=07-2 [JCN ®6x12 GB JCN ®6x 12 GB " 48
315| K=07-2 [JCN ®6x12 Ni JCN ®6x12 Ni ® 48
315| K-07-2 [JCN ®6x17 GB JCN ®6x17 GB ® 56
315| K=07-2 [JCN ®6x17 Ni JCN ®6%17 Ni ® 56
317| K-08-1 [A4x10 BE A4x10 ® 18
317| K-08-1 [A6x10 BE A6x10 ® 20
317| K-08-1 [A6X13 BE A6Xx13 ® 20
317| K-08-2 [B8x135 58H B8x135 ® 32
253| K-08-3 [D6x13 58H D6x13 ® 28
254| K-08-3 [D6x13 58H D6x13 ® 28
254| K-08-3 [D6x13 58H D6x13 ® 28
254| K-08-3 [D6x13 58H D6x13 ® 28
254| K-08-3 [D8X13 58E D8x13 ® 33
317| K-08-3 [D10X13 588 D10x13 ® 40
317| K-08-3 [D4%20 58H D4x20 ® 24
317| K-08-3 [D5x13 58H D5x13 ® 26
317| K-08-3 [D6x10 588 D6X10 ® 24
317| K-08-3 [D6x13 58H D6x13 ® 28
317| K-08-3 [D6x16 58H D6x16 ® 30
317] K-08-3 [D6Xx20 588 D6x20 ® 32
317| K-08-3 [D6x25 58H D6x25 ® 40
317| K-08-3 [D8x13 58H D8x13 ® 33
317| K-08-3 [D8X%25 58H D8x25 ® 48
317| K-08-4 [E4X10 SBE E4x10 I 29

Cirdle




H—4)LHZA%5 Vol 125 [l =

317 K-08-4 |E6%13 BB E6x13 " 24
317| K-08-4 [E6x20 58E E6x20 I 30
317| K-08-4 [E8x13 58E E8x13 I 28
317| K-08-4 [E8x20 58E E8x20 I 38
317| K-08-4 [E8X25 58E E8x25 I 38
320| K-09-1 [PBS-3.0x12U N=FE'R M 30x12 1ZHA PN 11,905
320 K-09-1 |PBS-3.0x 14U N=FE'Z M 3.0x14 1240 PN 11,667
320| K-09-1 [PBS-3.0x16U N—=FE'Z M 30x16 1=HA PN 10,715
320| K-09-1 [PBS-3.0x20U N=FE'R M 30x20 1=HA PN 8,120
320| K-09-1 [PBS-3.0x25U N=FE'R M 30x25 1ZHA PN 6,860
320| K-09-1 [PBS-3.0x 30U N=FE'Z M 30x30 1=HA PN 7,000
320| K-09-1 [PBS-3.0x35U N—=FE'Z M 30x35 1A PN 5835
320| K-09-1 [PBS-3.0x 40U N—=FE'Z M 30x40 1=HA PN 5525
320 K-09-2 |PBS-3.0x 12N N=FE'A I 3.0%12 Ni P 14,762
320 K-09-2 |PBS-3.0x 14N N=FE'A I 3.0%x14 Ni P 14,167
320| K-09-2 [PBS-3.0x 16N N=FE'R M 3.0x16 Ni P 12,145
320| K-09-2 [PBS-3.0x 20N N=FE'R M 3.0x20 Ni P 9,690
320| K-09-2 [PBS-3.0x 25N N=FE'R M 3.0x25 Ni P 7.810
320| K-09-2 [PBS-3.0x 30N N=FE'R M 3.0x30 Ni P 7.668
320| K-09-3 [PBS-3.5x12U N=FE'R M 35x12 1Z)A PN 10,286
320| K-09-3 [PBS-3.5x14U N=FE'R M 35x14 1ZHA PN 10,715
320| K-09-3 [PBS-3.5x16U N=FE'R M 35x16 1Z)A PN 9,228
320| K-09-3 [PBS-3.5x20U N=FE'R M 35x20 1A PN 6,858
320| K-09-3 [PBS-3.5x25U N—=FE'R M 35x25 1A PN 6.430
320| K-09-3 [PBS-3.5x 30U N—=FE'R M 35x30 1=/A PN 6,000
320| K-09-3 [PBS-3.5x35U N=FE'R M 35x35 1A PN 5,358
320| K-09-3 [PBS-3.5x 40U N=FE'R M 35x40 1=)A PN 4,834
320| K-09-4 [PBS-3.5x12N N=FE'R M 35x12 Ni P 11,430
320 K-09-4 |PBS-3.5x 14N N=FE'A I 35%14 Ni P 10,120
320| K-09-4 [PBS-3.5x 16N N=FE'R M 35x16 Ni P 7.715
320| K-09-4 |PBS-3.5x 20N N—FEA M 35%20 Ni X 7,144
320| K-09-4 [PBS-3.5x25N N=FE'R M 35x25 Ni P 7.144
320| K-09-4 [PBS-3.5x 30N N=FE'R M 35x30 Ni P 8,096
320 K=-09-5 |PBT-3.5x12U N=FE'R FA 35x12 12)A PN 8,096
320 K-09-5 |PBT-3.5x 14U N=FE'R }A 35x14 12HRA PN 7,500
320 K-09-5 |PBT-3.5x 16U N=FE'R }A 35x16 12HA PN 7.239
320 K=-09-5 |PBT-3.5x20U N=FE'R FA 35x20 12HA PN 7.335
320 K-09-6 |WR25ZT 1-RALyN fERRFE 25 S 3,550
320 K-09-6 |WR28ZT 1-RALyN fEFRFE 28 A 3870
320 K-09-6 |WR32ZT 1-RALyN fERRFE 32 A 3870
320| K-09-6 |WR38ZT 1-RALyh fEFAFE 38 A 3870
320 K-09-6 |WR41ZT 1-RALyN fEAFE 41 A 3870
320 K-09-6 |WR45ZT 1-RALyN TEFRFE 45 A 3870
320 K-09-6 |WR51ZT 1-RALyN fEAAFE 51 A 3870
320 K-09-6 |WR57ZT 1-RALyN fEFAFE 57 A 3870
320| K-09-6 |WR65HT 1-RALyh fEFAFE 65 A 2,590
320| K-09-6 |WR75HT 1-RALyN fERRFE 75 A 2,590
320| K-09-6 |WROOHT 1-RALyh fEFAFE 90 A 2,590

K-09-6 1-RALyh fEFAFE120 3 1786
320| K-09-7 |SR25T AJLALYE 25 P 3.100
320] K-09-7 [SR30T AJLALYE 30 P 3.100
320] K-09-7 [SR35T AYLALYE 35 P 3.100

Cirele




H—4)LAK2Aa%5 Vol 125l TR
[~y [+ [ && [ &% | =z [ fi#E |

320/ K-09-7 |SR40T AJLALYE 40 #a 3,100
320 K-09-7 |SR45T AYLALYE 45 P35 3,100
320/ K-09-7 |SRS0T AJLALYE 50 #a 3,100
320/ K-09-7 |SRS5T AJLALYE 55 #a 3,100
320 K-09-7 |SR60T AJLALYE 60 P35 3,100
320/ K-09-7 |SR65T AJLALYL 65 #a 3,100
320/ K-09-7 |SR70T AJLALYE 70 #a 3,100
320 K-09-7 |SR75T AYLALYE 75 P35 3,100
320/ K-09-7 |SR90T AJLALYE 90 #a 3,100
320| Kk-09-8 |20%x16 GB f7°29)2— 2.0x16 GB XEERY 8 2,260
320 K-09-8 |2.0x16 Ni b7’ 29Ya— 2.0x 16 Ni KEERY Ee 2,260
320 Kk-09-8 [2.0x16 /OA-} b7 R9Ya— 2.0x 16 HOi—t KEERY & 2,260
320 Kk-09-8 |20%x19 GB b7’ 29)2— 2.0x19 GB XEERY 8 2,260
320 K-09-8 |2.0x19 Ni b7’ 29Ya— 2.0x19 Ni KEERY Ee 2,260
320 K-09-8 [2.0x19 Hmi-p b7°R9Ya— 20x19 J0i—F XKIEERY = 2,260
320 K-09-8 |2.0x24 GB b7’ 29a— 2.0x24 GB NEERY E 2,260
320 K-09-8 |2.0x24 Ni b7’ 292 2.0x24 Ni KEERY Ee 2,260
320 K-09-8 [2.0x24 Hoi-t b7R9Y1— 2.0%x24 H0i-F  KTEERY & 2,260
320 Kk-09-8 |2.0%x27 GB b7’ 29Y1— 2.0x27 GB XEERY 8 2,260
320 K-09-8 |2.0x27 Ni b7’ 29Ya— 2.0x27 Ni KEERY Ee 2,260
320 K-09-8 [2.0x27 Hmi-t b7 R9Ya— 2.0%x27 H0i-F  KTEERY & 2,260
320| Kk-09-8 |2.0%x36 GB b7’ 29)1— 2.0x36 GB XEERY 8 2,260
320 K-09-8 |2.0x36 Ni b7’ 29Ya— 2.0x36 Ni KEERY Ee 2,260
320 K-09-8 [2.0x36 HmA-t b7°R9Y1— 20%x36 J0i—F KTEERY = 2,260

K-09-8 A-N=A%Y 20X 16 Ni & 2084

K-09-8 A-N=A%Y 20X 19 Ni & 2084

K-09-8 A-N=A%Y 20%23 Ni & 2084

K-09-8 A=N—=AK%Y 2.0%x27 Ni 5 2084

K-09-8 A-N=A%Y" 2.0%36 Ni & 2084
305| K-10-1 |262.53.300 7)y7° Kty TEIN-Y & 100
305| K-10-1 |262.53.310 7)y7°Karys— EEN-Y & 70
305| K=10-2 [267.90.000 EAr9b 0 @ 13,810
305 K=10-2 [267.90.010 E'Afryb 10 & 13.810
305 K=10-2 [267.90.020 E'Rfryb 20 & 13.810
312] K=11-1 [045.00.145 @ 10mmyR A PCAN=F+97" #=H7'739y Nyl 420
312| K-11-1 |045.00.243 o 10mmyR Al PCAN—%+97" 739 Nyl 420
312| K=11-1 |045.00.341 ¢ 10mmy A PCAN—%+97" B Nyl 420
312| K-11-1 |045.00.540 ¢ 10mmy A PCAN—%+97" F4M)'L— Nyl 420
312| K-11-1 [045.00.743 @ 10mm7XA PCAN —4+y7" B Nyl 420
312| K-11-2 [045.33.050 o 10mmyN A RBAN %497 NV Nyl 110
312| K=11-2 [045.33.150 @ 1ommy A REAN—F497" A= Ny 110
312| K=11-2 [045.33.350 @ 1omm;N A AEAN-Fv97" 7T Ny 110
312| K-11-2 |045.33.450 o 10mmyN A KREAN-Fvy7" £-4 Nyl 110
312| K-11-2 |045.33.550 o 10mmy A RBAN —Fv97" Tuda Nyl 110
312| K-11-3 [340.41.104 @ 35mm kXY hy7 RAN —%+vv7" 7390 Y 32
312| K-11-3 [340.41.702 @ 35mm £ hy7 RN —%vy7” B Y 32
313 K=11-4 |045.23.300 PVCAN —%+97 14mmE (531&) —h 810
313 K=11-4 |045.23.700 PVCAN —%+97 14mm B (531&) —h 900
312| K-11-5 |045.00.158 JARH RN - demmFH 7590 Nyl 450
312| K=11-5 [045.00.159 FURH NN - p6mmIE NAUE Ny 450
312| K-11-5 |045.00.358 TURHRAIN - demmNE TR Nyl 450
312| K-11-5 |045.00.359 O - penmyH RE Nyl 450

Circle



H—4)LHZA%5 Vol 125 [l =
[~y [+ [ && [ &% | =z [ fi#E |

312| K-11-5 |045.00.559 FABSH NN - demmy A T L— Wyl 450
312| K-11-5 |045.00.759 JIESH AN - penmyH B Wyl 450
319 K-12-1 |006.28.210 MLIR nUNEZ4N = T10 ® 3,530
319 K-12-1 |006.28.211 MLVOR NUNEFAN = T15 " 3,600
319 K-12-1 |006.28.212 MLYR nONEFAN = T20 ® 3,620
319 K-12-1 |006.28.213 MLOR NUNEFAN— T25 " 3,670
319] K-12-1 |006.28.215 MLIR nUFEI4N— T30 " 4,040
319] K-12-2 [019.01.900 KAN-MVYA/INEE JEYAAYTF 40x25 55 16,790
319] K-12-2 [019.01.901 KAN - MVYA/INEE PEYAA)7 1+ 4.0%30 55 19,170
319] K-12-2 [019.01.902 KAN -MVYA/IEE JEYAAYTF 40x%35 55 20600
319| K=12-2 |019.01.903 KAN M)A/ INEE HEYAA)7 44 4.0 x40 e 11,190
319] K-12-2 [019.01.904 KAN-MVYA/INEE JEYAAYTF 4.0x45 55 12,330
319] K-12-2 [019.01.905 KAN - MVYA/INEE PEYAA)7 fF 4.0%50 55 12,800
319] K-12-2 [019.01.907 KAN - MVYA/INEE PEYAA)7 1+ 4.0%60 55 17.380
319] K-12-2 [019.01.908 KAN - MVYA/INEE PEYAA)7 1+ 40%70 55 8,650
319] K-12-2 [019.01.923 KAN-MVYA/INEE PEYAA)7 fF 4.5%50 55 7.650
319| K-12-2 [019.01.924 KAN - MVYA/INEE PEYAA)7 1+ 4.5%60 55 8,000
319] K-12-2 [019.01.943 KAN - MVYA/INEE PEYAA)7 4+ 5.0% 70 55 10,410
319| K=12-2 [019.01.944 RAN - MLYR/IEE HEYIAAY7'fF 5.0 X80 5 12,170
319| K-12-3 |015.73.526 MLYR-BEER 9% 30X 13 F5 4,000
319] K-12-3 |015.73.535 MLYR-BEER A% 30X 15 F5 10,360
319] K-12-3 [015.73.544 MLOR-EBERAvE 3.0x17 BEE S F 4,000
319] K-12-3 |015.73.553 MLYR-BEER 9% 3.0%20 F5 9.030
319] K-12-3 |015.73.571 MLYR-BEERA9E 30X 25 F5 8,040
319] K-12-3 |015.73.624 MLYR-BEER A% 35X 13 F5 11550
319] K-12-3 |015.73.633 MLYR-BEER A% 35X 15 F5 4,500
319] K-12-3 [015.73.642 MR -EEntyt 35x17 BEEHESHR P 4,000
319] K-12-3 |015.73.651 MLYR-BEER 9% 3.5%20 F5 4,880
319| K-12-3 |015.73.679 MLYR-BEER A% 35X 25 F5 5480
319] K-12-3 |015.73.688 MLYR-BEER A% 3.5% 30 F5 12,030
319| K-12-3 |015.73.697 MLYR-BEER A% 3.5%35 F5 12.740
319] K-12-3 |015.73.820 MLYR-BEERA9E 40X 15 F5 6,000
319] K-12-3 |015.73.839 MLYR-BEER AT 40X 17 F5 6,000
319| K-12-3 |015.73.848 MLYR-BEER % 4.0%20 F5 6.080
319| K-12-3 |015.73.857 MLYR-BEER AT 40X 25 F5 14650
319| K-12-3 |015.73.866 MLYR-BEER A9 4.0% 30 F5 8,000
319| K-12-3 |015.73.875 MLYR-BEER AT 40X 35 F5 8,870
319] K-12-3 |015.73.884 MLYR-BEER 9% 4.0% 40 F5 4570
319| K-12-3 |015.73.928 MLYR-BEER A9 4.5%20 F5 16,080
319| K-12-3 |015.73.937 MLYR-BEER AT 45X 25 F5 16,790
319] K-12-3 |015.73.946 MLYR-BEER 9% 45X 30 P 10,120
319| K-12-3 |015.73.955 MLYR-BEER A% 45X 35 P 5360
319] K-12-3 |015.73.961 MLYR-BEER 9% 4.5 %50 F5 12.860
319] K-12-3 |015.74.050 MLYR-BEERAE 50X 17 P 9.380
319| K-12-3 |015.74.078 MLYR-BEER 9% 5.0%20 P 12,740
319] K-12-3 |015.74.096 MLYR-BEER 9% 5.0% 30 F5 13.040
319] K-12-3 |015.74.112 MLYR-BEER 9% 5.0% 40 F5 15.180
319] K-12-3 |015.74.130 MLYR-BEER 9% 5.0 %50 P 7.340
319| K-12-3 |015.74.132 MLYR-BEER 9% 5.0% 60 F5 8,500
319] K-12-3 |015.74.154 MLYR-BEER 9% 6.0 %40 F5 3,600
319] K-12-3 |015.74.158 MLYR-EEER 9% 6.0 %60 P 12,100
319] K-12-3 |015.74.160 MLYR-BEER A% 6.0% 70 F5 13.460

Circle



H—4)LAK2Aa%5 Vol 125l TR

316] K-13-1 |JCB-B=*6x15 GB JCB-B+6 % 15 GB 1@ 30
316] K=13-1 |JCB-B=6x 15 Ni JCB-B£6 X 15 Ni 1 30
316] K-13-1 |JCB-B=6x30 GB JCB-B=6 X 30 GB 1@ 36
316] K=13-1 |JCB-B=6 x 30 Ni JCB-B=£6 X 30 Ni 1 36
316] K-13-1 |JCB-B=6x35 GB JCB-B=6 X 35 GB 1@ 36
316] K=13-1 |JCB-B=6 x 35 Ni JCB-B=£6 X 35 Ni 1 36
316] K-13-1 |JCB-B=6 x40 GB JCB-B=6 X 40 GB 1@ 38
316] K=13-1 |JCB-B=6 x 40 Ni JCB-B=6 X 40 Ni 1 38
316] K-13-1 |JCB-B=6x45 GB JCB-B+6 X 45 GB & 44
316] K=13-1 |JCB-B=6 x 45 Ni JCB-B=£6 X 45 Ni 1 44
316] K-13-1 |JCB-B=6 x50 GB JCB-B=6 X 50 GB & 46
316] K=13-1 |JCB-B=6 x50 Ni JCB-B=6 X 50 Ni 1 46
316] K-13-1 |JCB-B=6x60 GB JCB-B=6 X 60 GB & 52
316] K=13-1 |JCB-B=6 X 60 Ni JCB-B=£6 X 60 Ni 1 52
316] K-13-1 |JCB-B=6x70 GB JCB-B=+6 X 70 GB & 62
316] K=13-1 |JCB-B=6 X 70 Ni JCB-B=£6 X 70 Ni 1 62
316] K-13-1 |JCB-B®6 x 15 GB JCB-B®)6 % 15 GB 1@ 28
316] K=13-1 |JCB-B®?6 x 15 Ni JCB-B®)6 % 15 Ni 1 28
316] K-13-1 |JCB-B®6 x 30 GB JCB-B®)6 % 30 GB 1@ 34
316] K=13-1 |JCB-B®6 x 30 Ni JCB-B®)6 % 30 Ni 1 34
316] K-13-1 |JCB-B®6 x 35 GB JCB-B®)6 % 35 GB 1@ 36
316] K=13-1 |JCB-B®6 x 35 Ni JCB-B®)6 % 35 Ni 1 36
316] K-13-1 |JCB-B®6 x 40 GB JCB-B®)6 X 40 GB 1@ 38
316] K=13-1 |JCB-B®6 x 40 Ni JCB-B®)6 X 40 Ni 1 38
316] K-13-1 |JCB-B®6 x 45 GB JCB-B®)6 X 45 GB 1@ 44
316] K=13-1 |JCB-B®6 x 45 Ni JCB-B®)6 X 45 Ni 1 44
316] K-13-1 |JCB-B®6 x 50 GB JCB-B®)6 % 50 GB 1@ 46
316] K=13-1 |JCB-B®?6 x 50 Ni JCB-B®)6 X 50 Ni 1 46
316] K-13-1 |JCB-B®6 x 60 GB JCB-B®)6 X 60 GB & 52
316] K=13-1 |JCB-B®6 X 60 Ni JCB-B®)6 X 60 Ni 1 52
316] K-13-1 |JCB-B®6 x 70 GB JCB-B®)6 % 70 GB & 62
316| K=13-1 |JCB-B®?6 x 70 Ni JCB-B®)6 X 70 Ni 1 62
316] K-13-2 |GTC M6x 10 BL IBIEFECAPE'Z M6 2 I 48
316| K-13-2 |GTC M6x10 UC MBIEEECAPE'Z M6 1240 & 96
316] K-13-2 |GTC M6x12BL IBIEFECAPE'Z M6 2 I 80
316| K-18-2 [GTC M6x12UC MBIEEECAPE'A M6 1240 & 98
316] K-13-2 |GTC M6x16 BL IBIEFECAPE'Z M6 B I 84
316| K-13-2 |GTC M6x16 UC HBIEEECAPE'A M6 1240 & 104
316] K-13-2 |GTC M6 x20 BL IBEFECAPE'Z M6 2 I 86
316| K-18-2 |GTC M6 x20 UC MB{EEECAPE'Z M6 1240 & 110
316] K-13-2 |GTC M6 x25 BL IBIEFECAPE'Z M6 2 I 92
316] K-18-2 |GTC M6 x25 UC MBIEEECAPE'Z M6 1240 & 122
316] K-13-2 |GTC M6 x 30 BL IBIEFECAPE'Z M6 2 I 110
316| K-13-2 |GTC M6 x30 UC MBIEEECAPE'Z M6 1240 & 150
316] K-13-2 |GTC M6x6 BL IBIEFECAPE'Z M6 B I 120
316] K-13-2 |GTC M6x6 UC HBIEEECAPE'A M6 1240 & 162
316] K-13-2 |GTC M6x8 BL IBIEFECAPE'Z M6 B I 46
316] K-13-2 |GTC M6x8 UC MB{EEECAPE'Z M6 1240 & 92
316] K-13-3 |GTC M8x 10 BL IBIEFECAPE'Z M8 B I 176
316| K-13-3 [GTC M8x 10 UC MBIEEECAPE'A M8 1240 & 230
316] K-13-3 |GTC M8x 12 BL IBIEFECAPE'Z M8 B I 134
316] K-13-3 |GTC M8x12UC MBIEEECAPE'A M8 1240 & 180

Cirele




H—45)LAHE0a45 Vol. 1258 i &
[~y [+ [ && [ &% | =z [ fi#E |

316] K-13-3 |GTC M8x16 BL MBIEEECAPE'Z M8 £ & 138
316 K-13-3 |GTC M8x16 UC IBIEFECAPE'Z M8 129M & 186
316] K-13-3 |GTC M8x20 BL IBIEEECAPE'Z M8 2 & 140
316| K-13-3 |GTC M8x20 UC MBIEEECAPE'A M8 1240 & 188
316] K-13-3 |GTC M8x25 BL 1BIEEECAPE'Z M8 2 & 144
316| K-13-3 |GTC M8 x25 UC }B{EEECAPE'Z M8 124m & 194
316] K-13-3 |GTC M8x30 BL MBIEEECAPE'Z M8 £ & 156
316] K-13-3 |GTC M8x30 UC IB{EFECAPE'Z M8 124M & 198
316] K-13-3 |GTC M8x8BL 1BIEEECAPE'Z M8 2 & 180
316] K-13-3 [GTC M8 x8 UC MBIEEECAPE'Z M8 1240 & 239
318] K-14-1 [011.00.214 B+ ¥{+ANF{N—I5E/DIN 97 2.5x 12 s 22620
318| K-14-1 [011.00.232 BIE+Y ¥4+ AN74N'—MLEE/DIN 97 25X 16 b 15,480
318| K-14-1 [011.00.241 BIE+Y ¥4+AN74N—MLEE/DIN 97 2.5X 20 b 24,470
318] K-14-1 [011.00.438 B+ ¥{+ANF{N—I5E/DIN 97 2.5x 30 s 5,980
318| K-14-1 [011.00.447 BE+Y ¥4+ AN74N'—MEE/DIN 97 3.0 X 20 b 7,290
318| K-14-1 [011.00.458 BE+Y ¥4+ AN74N'—MLEE/DIN 97 3.0 X 25 b 8,220
318] K-14-1 [011.00.529 B+ ¥{+ANF{N—I5E/DIN 97 3.0x 16 s 5,360
318| K-14-1 [011.00.538 BIE+Y ¥4+ AN74N'—MLEE/DIN 97 3.5X 20 b 5910
318| K-14-1 [011.00.547 BIE+Y ¥4+ AN74N'—MLEE/DIN 97 3.5X 25 b 8,670
318] K-14-1 [011.00.565 B+ ¥{+ANF{N—I5E/DIN 97 3.5x35 s 10,980
318| K-14-1 [011.00.629 BIE+Y ¥4+ AN74N'—MLEE/DIN 97 4.5x 40 b 18,910
318| K-14-2 [011.20.216 BEE+Y ¥4+ AN74N - MEE/DIN 95 2.5X 12 b 14,530
318| K-14-2 [011.20.234 BEE+Y ¥4+ANFAN—HMEE/DIN 95 25X 16 < 23,220
318| K-14-2 [011.20.243 EE+Y" ¥4+ AN74N—#LMEE/DIN 95 2.5 X 20 b 16,610
318| K-14-2 [011.20.430 BEE+Y ¥4+ AN74N—#LMEFE/DIN 95 3.0X 16 b 5,550
318| K-14-2 [011.20.447 EE+Y" ¥4+ AN74N—#LMEE/DIN 95 3.0 X 20 b 6,530
318| K-14-2 [011.20.458 BEE+Y ¥4+ AN74N - MEFE/DIN 95 3.0 X 25 b 7,600
318| K-14-2 [011.20.529 BEE+Y ¥4+ AN74N—#LMFE/DIN 95 3.5X 16 b 6,620
318| K-14-2 [011.20.538 EE+Y" ¥4+ AN74N—#LMEE/DIN 95 3.5 X 20 b 7,670
318| K-14-2 [011.20.547 EE+Y ¥4+ AN74N—#LMEFE/DIN 95 3.5X 25 b 9,580
318| K-14-2 [011.20.556 EE+Y" ¥4+ AN74N—#LMEE/DIN 95 3.5 % 30 b 10,790
318| K-14-2 [011.20.604 BEE+Y ¥4+ANFAN—HIEE/DIN 95 4.0X 16 s 8,910
318| K-14-2 [011.20.605 EE+Y" ¥4+ AN74N—#LMEE/DIN 95 4.0 X 20 b 8,290
318| K-14-2 [011.20.609 EE+Y" ¥4+ AN74N—#LMEE/DIN 95 4.0 X 40 b 15,360
318| K-14-3 |69646 EREE A Bf//0—L 15%15 PN 300
318| K-14-3 |69647 {EREE A E//0—L 15X 20 PN 290
318| K-14-3 |69648 EREE A Bf//0—L 15% 25 PN 310
318| K-14-3 |69649 fEREE A E//0—L 15X 30 PN 330
318| K-14-3 |69650 efEE RGN B /90—L 19x20 PN 350
318] K-14-3 |69651 E#EE AGEI) B /90—L 19x 25 PN 370
318| K-14-3 |69652 fEREE AEI) E//0—L 19 %30 PN 400
318| K-14-3 |69653 EREE AEI) B/90—L 19x 35 PN 410
318| K-14-3 |69654 EREE AEI) Ef//0—L 19X 40 PN 460
318| K-14-3 [69655 fEREE R(EIEE) EiR//0-L 19X 20 P 290
318| K-14-3 [69670 EREE ) Ef//0—L 19 %45 PN 590
318| K-14-4 |69674 A-Lybhe A(EIEE) ATULA 15 %20 & 970
318| K-14-4 |69675 A-Lybhe A(EIEE) ATULR 15 %25 & 990
318| K-14-4 [69676 A—Lyht A(E#E) ATULR 20X 18 e 1,070
318| K-14-4 [69677 A—Lyht A(EIHE) ATULR 20 X 25 e 1,300
318| K-14-4 |69699 A-Lyhe A(EIEE) ATULR 15 %15 & 820
318| K-14-4 (69700 A—Ly bt A(E ) ATULA 20 X 30 e 1,400
310 K=15-1 [t —%P2tyb FA0P-Y AT L & 396,000

Cirele



H—45)LAHE0a45 Vol. 1258 i &
[~y [+ [  && [ &% | =z [ fi#E |

311| K-15-2 |P-14 C-100 97,99 AP-14 100 Nyh 38,000
311| K-15-2 |267.91.136 97,99 AP-14 300 Nyh 114,000
311| K-15-2 |P-10 C-100 97299 AP-10 100 Nyh 38,000
311| K=15-2 |267.91.130 97,99 ZP-10 300 Nyh 114,000
311] K-15-3 |P-14 T-100 T7U)-P-14 £179757°5 100 Nyl 22,000
311| K-15-3 |267.91.152 T7U)-P-14 £179757°5 300 Y 66,000
311| K-15-4 |P-18 D-100 TWYAP-18 2744V H707°=K 100 Nyh 26,000
311| K-15-4 |267.91.155 TWYAP-18 2744V H707°= 300 Nyl 78,000
306] K-16-1 [974331 }'3/DF500Q & 345,000
307| K=16-10 |495666 NIV IIVA P 11,070
306| K-16-2 [498899 N2/Fy7 EyhDS tyh 97.620
307| K-16-3 |494938 N3/F97° 2 —REA E-FM T AT VAN yYEE] 5% 30mm Nyl 5,860
307/ K-16-3 |494939 N3/F97° 2 —REA E-FM T AT VAN YYEE] 6 % 40mm Nyl 5,860
307| K-16-3 |494940 N3/F97° 2 —HEA E-FM T AT VAN yYEE] 8 x 40mm Nyl 5,860
307| K-16-3 |494941 N3/F97° 2 —REA E-FM T AT VAN yYEE] 8 x 50mm Nyl 5,860
307 K-16-3 |494942 N3/F97° 2 —REF E-FM T AT VAN YYEE] 10 X 50mm Nyl 5,860
307| K-16-3 |495661 N3/F97° 2 —HEA E-FM T AT VAN YYEE] 4 x 20mm Nyl 5,860
307| K-16-4 |493296 N3/Fy7° 2 —HEFR £ -FH(FERE) 5% 30mm e 31,550
307| K-16-4 |493297 N3/Fy7° A —HE A E-FH(FERE) 6 X 40mm e 31,550
307| K-16-4 |493298 N3/Fy7° 2 —HE AR E-FH(FERE) 8 x 40mm e 31,550
307| K-16-4 |493299 N3/Fy7° A —HEF £ -FH(FERFE) 8 x 50mm e 31,550
307| K-16-4 |493300 Ni/Fy7°A —HE A E-FH(FEAFE]) 10 x 50mm P 31550
307| K-16-4 |498686 N3/Fy7'A — AR £ -F4F 0U9 Fy7" 8 X 750mm 55 31,550
307| K-16-5 |494859 N/FY7 R IHATYTH YA 5 X 30mm P 5,860
307| K-16-5 |494860 N2/Fy7°A THATIT A ViK'#F 6 x 40mm o5 5,860
307| K-16-5 |494861 N2/Fy7°A THATIT A Vik'#F 8 x 40mm o5 5,860
307| K-16-5 |494862 N/FY7' R IHATITH ViR 8 x 50mm P 5,860
307] K-16-5 |494863 N/Fy7° A2 IHATITH Yk 10 X 50mm P 5,860

Cirele



